Midterm # 2 (Time: 70 minutes) 11/16/15 Name: SO LLITIONS Z

Do any five out of the six problems given. Indicate which problem you didn’t do! Don't fry to do alf six
because you won't get any extra credit.

Problem 1. (20 POINTS) Determine the value of the equivalent capacitance C,q seen between terminals X
and Y, as shown. Present your solution step
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Problem 3 (20 POINTS). Consider the circuit shown below. Determine the value of the unknown resistance
R such that it will receive maximum power from the circuit. What is the maximum power received by the R
resistor you have chosen? Show your work step by step. Note that you need to provide two answers for

this problem.
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. Problem 4 (20 points). Consider the circuit shown below where the switch closes at t 0, after being

open for a long time. Find the capagiterveliage-v(f) for { = 0.
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Problem 5. (20 POINTS) Assuming the circuit shown below is at steady state, determine the energy stored
in each capaciior.
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